24 =279 HOWTO

SA WA 3.7.17

Guido van Rossum
and the Python development team

6% 28, 2023

Contents
1 A 1
T8 R I R 2
2 2ATEY 2
2.1 IPC . e s 3
3 2F AL3H 3
3.1 vFolU B EIOTE] .. L 5
4 4437 S
41 AFONEZE W ., 5
5 A EEF A 5

NS

2L AL BE oA ARH AR 71 AsHA 23| 71e F sty th o] 22 10,0005 E 4
TN B A ALYUTh AR AEAE oAU e HL 43| AFFEE wHE 7] 95 8 of
g do] dsUth AR AME thFA = syt (24 Aso] ol dsurnh, 2452 A9 9]
Mg o SRS A S £ 5 A7 E vy Th

(al

INET (5, IPvd) 2710 B A o] of7] & Zl o] A wh, AbG 5 Q1 2 79] 99% o] = A Ytk =3
STREAM (5, TCP) &7l o] &3 ARt o] op7] & Ad Ut - o2l o] Fo< skl =4 A2 <dal 9
A (28 @ o] HOWTO+= B & lsUth) ohd, o8 B & 21t STREAM 2210 2 T U2 &

m 7

.
45 Qe 5 daurh 270 TAAR o 3 £57 7R ojf2 B2 AT ] B2 2o
AQishe whlol T e =S EueA stela Gtk A% B2 276 Bl o opl s Aow
A AU ¥ B2 248 ThE7] Ao o] Ao] o] @A 25517 Lolok gtk

o2 3 AS L olalaiet] o] H gL Fu B REL Fuo] gep<ado] de] A Hua o AL
=g 4 glrke 29Ut 2 A BA, tiske] 2 “Zehol AL £AT, Wl A%k -2 Ao} H] % 8 A



sl RASUTH SeoldE $
Ak AFg 3T o) 2l o] Tl Eshe 3 AW

b =
B
L
o
4
1)

IPC (Inter Process Communication, = 2 A| A 7F 5 A1) 9] t} ksl F e Foj| A], 2 A o] 7} Wo] ALE
54 FAEAA 2 FEHY IPC7L O wihE 7Fs/d o] YA TH ZE=A SHE o]

Ael el 9= gJuch.

BSD Ald frd 29 2 v oA TiEE A5 Uth U A A=A H HHSUTH 2 97
oAl —INETH 2718 2% A AAY 499 714 B2 5 gl= W gA HIE ves = UA=F
FUthH(H o= thE A A9} v 2 3 o).

pe=
2 27 9HE7)
W5 239, o] slo| A2 AAS = YA E FYFA Heke AT eI 2L AU S 2P PG
# create an INET, STREAMing socket
s = socket.socket (socket.AF_INET, socket.SOCK_STREAM)
# now connect to the web server on port 80 - the normal http port
s.connect ( ("www.python.org", 80))
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# create an INET, STREAMing socket
serversocket = socket.socket (socket.AF_INET, socket.SOCK_STREAM)
# bind the socket to a public host, and a well-known port
serversocket .bind((socket.gethostname (), 80))
# become a server socket
serversocket.listen (5)
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while True:
# accept connections from outside
(clientsocket, address) = serversocket.accept ()
# now do something with the clientsocket
# in this case, we'll pretend this is a threaded server
ct = client_thread(clientsocket)
ct.run()
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class MySocket:
"""demonstration class only

- coded for clarity, not efficiency
mirrn

(Th& sl AT ol AS)




(o1 sl o] A A A%)

def _ init_ (self, sock=None) :
if sock is None:
self.sock = socket.socket (
socket .AF_INET, socket.SOCK_STREAM)
else:
self.sock = sock

def connect (self, host, port):
self.sock.connect ( (host, port))

def mysend(self, msqg):
totalsent = 0
while totalsent < MSGLEN:
sent = self.sock.send(msg[totalsent:])
if sent == 0:
raise RuntimeError ("socket connection broken'™)
totalsent = totalsent + sent

def myreceive (self):

chunks = []

bytes_recd = 0

while bytes_recd < MSGLEN:
chunk = self.sock.recv(min (MSGLEN - bytes_recd, 2048))
if chunk == b'':

raise RuntimeError ("socket connection broken™")

chunks.append (chunk)
bytes_recd = bytes_recd + len(chunk)

return b''.join (chunks)
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In Python, you use socket.setblocking (0) to make it non-blocking. In C, it’s more complex, (for one
thing, you’ll need to choose between the BSD flavor O_ NONBLOCK and the almost indistinguishable POSIX flavor
O_NDELAY, which is completely different from TCP_NODELAY), but it’s the exact same idea. You do this after
creating the socket, but before using it. (Actually, if you’re nuts, you can switch back and forth.)
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